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CHAPTER
o S
Get Set

Answer these questions to check your understanding of the Get Ready concepts on
pages 278-279 of the Foundations of Mathematics 10 textbook.

Quadratic Expressions

Polynomials

1. Circle the numerical coefficient in each term and identify each expression as a monomial,
binomial, or trinomial.
a) 3x b) 4x* + 3x — 1 c) 83 d) x* + 7x

Algebraic Expressions |
2. Multiply or divide as indicated. 1522
a) 3(4y) b) (—21)(—31) €) —6x+3 d) 3

3. Simplify.

a)5Sx+4—Tx—1 b)x>+2x+4+x c) x>+ 82— 7 —5x+ 13x
)
Q 4. Expand.

a) 2(x - 5) b) 5x(2x + 6) €) —3(4x* + 4x — 2) d) 2x2 3x + 5)

Number Operations
5. Square each term.
a) —6 b) 4x c) 10y d) —5x

Measurement
6. Find the area of the shaded region in the diagram.
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. 71 | Multiply Two Binomials
Warm-Up
I 1. Number Operations 3. Fectors
Evaluate. | Find the greatest whole number that
a) 3(2 + 6) divides evenly into each pair.
a) 8 and 16
b) (12 - 6)(10 —5) + 4
b) 21 and 49
' 8. The DistributiveProperty = 4. Math Literacy
Expand. = a) What does the prefix bi mean?
a) 4x(3x + 2) !
b) Give an example of a word with this
b) 5x(2x + 6) prefix.
5. Estimation : | 6. Simplify Algebraic Expressions
' A piece of string 8.2 m long is lengthened | Simplify.
by a factor of 4.1. What is the approximate a) 14x + 12 — 5x + 8

length of the new string?

b) —(a+5) +4a+7
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72 Common Factoring

Warm-Up

1. Number Operations 2
Evaluate.
BX4)  (3x09)
VS

b) —(—2X9) + 3

8. The Distributive Property 4,

Expand.
a) 2a(6 — 2a + b)

b) —7(x — 4y + 6)

6. Estimate 6.
A case of printer paper containing
5 packages of 500 sheets costs $24.89.
a) Roughly how much does each
package of paper cost?

b) Roughly how much does each sheet
of paper cost?
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Textbook ||
pp. 290-297 ]
Factors
Provide three factors of
a) 30
b) 72

Math Literaoy

What is the opposite process to factoring?
Explain why.

Simplify Algebraic Expressions
Simplify.
a) 4x+4—-12x—6

b) X2 + 2x + 4 + x + 4x2
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